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IN A CIRCLE

g
=y There are 6 permutations on the symbol A, B and C in a Hine.
These are: ABC ACB BAC BCA CAB CBA.

However in a circle there are only 2 different permutations on these 3 symbols. These are:

< as they are the only possibilities with
A and AQ different right-hand and lefi-hand
@ neighbours.
<
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What to do:
1 Draw diagrams showing different cyclic permutations for:
a onesymbol; A b two symbols; Aand B
¢ three symbols; A, Band C d  four symbols; A, B, C and D

2 Copy and complete:
Number of symbols | Permutations in a line | Permutations in a circle
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3 If there are n symbols to be permuted in a circle, how many different orderings are
possible?
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